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sin(a+B)=sinacosB+cosasinf - @
sin(e—pB)=sinacosf—cosasinf - ©)
cos(@+8)=coscwcosf—sinasinf - 3
cos(@—pB)=cosacosf+sinasinf - @
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HzonbRiE, sinacosB, cosasing,
cosacosf, sinasinf ® 4 KDOWITND
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sin 36’c056’=%{(sin 30cosf+cos30sinb)
+(sin30cos—cos30sinb)}
=%{$n@9+6}+ﬁn@6—9»

=%(sin46’+sin 26)
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sin3ﬁsin6=%{—(cos 360cos—sin30sinb)
+(cos36cosf+sin30sinb)}

:%{_COS (304 6)+cos (36— 6)}

= —%(cos 40—cos26)
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5.2 51 5R%, sina+sinB, sina—sing,
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sin36+sinf=sin(20+0)+sin(20—0)
=(sin20cos 0+ cos20sinb)
+(sin26cos @ —cos 26sinf)
=2sin260cos@
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sin(x+Ah)—sinx=2cos <x+%>sin% DEEH
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(x+2)-2—x 2220
sin(x+hA)—sinx

=Sin(x+£+£)—sin(x+£—£>
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Z{sin <x~l—%> cos%—i—cos (x +%)sin%}
—{sin <x +%> cos%—cos (x +%>sin%}
=2cos (x—i—%)sin%
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